· What data should you collect?

The weight of the washers, the clip, and the weight.

Clip = .0025 kg
Stopper = .02 kg

Washers = .0415 kg


The time it takes for the stopper to complete a revolution.

101rev/60.72s = 1.6469 rev/s

The length of the string from the tube to the stopper.

R = 50 cm
· Which variables should be graphed in order to establish the mathematical model?

F = mg = (.0415 + .0025)(9.8) = .4312
Time = .6072 sec/rev
Velocity = 5.2264 m/s
· After graphing the variables, how will you establish a relationship?

· How will you test the validity of your mathematical model?

